EPIFAZTHPIAKH AzZKHZH 2
METPH2H OlrKOY

MNooov Oyko vepol pmopw va BaAw ot éva motnpL; NMocog

elval o 0ykog Tou aépa otnv aibouoa SidackaAiag; Mocog
elvat o 6ykog ¢ yng; Onwce n emupavela, €ToL Kal 0 OYKOG
elvat éva o¢uowd peyebog ToOu  xapoaktnpilel TN
KYEWUETPLKA  PUOLOYVWHIO» TWV OVIIKELUEVWY TIOU
BAEmou e YyUpw Hag.

BaOLKEG EVVOLEG:
‘OyKoG CWHATOG - OYKOMETPLKOG KUALVEPOG

Y€ qutn TNV aoknon Ba acxoAnBoU e e TN LETPNON TOU OYKOU UYPWV KOL OTEPEWV CWHUATWV. MNa
Va ETPOOUE TOV OYKO EVOC CWMOTOG TIPETEL VOL TOV OUYKPIVOUUE HE €vav OYKO TIOU E€XOUME
ETUAEEEL WG povada peETpnong. OL Ttolo KOWEG HovASEeG LETPNONG OyKou elvat:

a) 1o éva KUBLKO ekatooTo (1cm3 1 1mL): o 6ykog KUBOU ToU EXEL AKUEG LRKOUG 1cm,

B) to Aitpo (1L): o dykog KUPBOU TtoU €XEL OKUEG HKoug 10cm,

V) To KUBLKO PETPO (1m3): 0 OyKOg KUPBOU TIOU EXEL AKUEG UKOUG 1m.

Mé£tpnon Tou GyKou uypoU CWHOTOG

AvapwTtiépal - YoB<tw - Ixedlalw

ALaBETELG Eva KEVO TTAALOTLKO LTTOUKOAGKL, £VAV OYKOUETPLKO KUALVEPO Kot
VvEPO Bpuong. Neplypae pia melpapatikr Stadikaoia ylo vo LETPNOELG
TN XWPNTLKOTNTA TOU

UTtoukaALoU.

Nepapatifopal — YrnoAoyilw

METPNOE TOV OYKO TOU UYpOU TIOU UITOPEL VO XWPECEL TO UMOUKAAGKL Kol Kataypae Tn HETPnon
oou otnVv 1n ypapun tou mivaka petprioswv A. EmavalaBe tnv idla Stadikacia akopa 4 GopEg Kat
CUUMANPWOE TOV TIVOKA UETPOEWV. YTTOAOYLOE TN HEON TIUN TWV TILWV TNG XWPNTIKOTNTAG TOU
UrtoukaALloU Tou Bprkeg Kal katdypaé tn otov mivaka A.

MINAKAZ METPHZEQN A
apLOuog ‘OykoG vepoU TOU XWPAEL TO MUMOUKAAL | Méon TR TwWV  PETPACEWV  TNG
uEtpnong | (ml) XWPNTIKOTNTAC TOU UIMOUKaALoU (ml)




Métpnon Oykou oTeEPEOU CWHATOG
AvopwTtiEpal - YoB<tw - Ixedialw
ALABETELG EVaV OYKOUETPLKO KUAVEPO, £V KOUUATL TAAOTEALVNG, VIO KoL

vepo. Meplypade pia mepapatikn dtadikaoia yla va UETPHOELS TOV OYKO
TOU KOMUATLOU TAAOTEALVNG.

IXeSLAOHOG

Nepapatifopal — YrnoAoyilw

METPNOE TOV OYKO TOU KOPUATLOU TNG MAAOTEALVNG KOl Kataypae Tn LETPNOT 00U OTNV 1n ypapun
TOU Ttivaka petprioewv B. EmavaAaBe tnv idla dtadikaoia akopa 4 GopéC Kal CUUMARPWOE ToV
TVaKO LETPAOEWV. YITOAOYLOE TN PEON TIUA TWV TLWV TOU OYKOU TNG MAAOTEALVNG TToU BPrKEC Kal
Kataypa € tn otov mivaka B.

MINAKAZ METPHZEQN B
opLOPOC ‘Oykog mAaoteAivng(ml) Méon TN TWV UETPOEWV TOU OYKOU
HETPNONG mAaoteAivng (ml)

Edappolw - EEnyw — Eppnvedw

AwaBételg  popkadopo, ouplyya, XApoKa Kol €va  SOKLHAOTIKO owAnva. Ofloupes va
BaBuovounooupe tO OOKIWMOOTIKO OWAAvVA O HOVAOEC OYKOU, WOTE va UMOPOUUE va TO
XPNOLLOTIOLOUE WG OYKOUETPLKO KUALVSPO Kal va HETPAUE OyKoug uypwv. MNepiypade Tt Ba KAVELS
Kall UAoTtoinoe to oX€SL6 cou.

Mepypadn
BaBuovounon §okuaoTikoU cwAnva o€ Lovadeg dykou
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Av {uyiloou e £va KOUUATL TAQOTEALVNG TTOU £XEL OYKO 1cm3 Kol £vol KOUUATL OL8rpou TIou €XEL TOV
1610 oyko, Ba Bpoupe o oidnpog £xel MOAU peyaAltepn pala. H pala evog owpatog mou €XEL OYKO
1cm3 eival xapaKTnPLOTIKO TOU UALKOU TOU CWHATOG Kot ovoualetal mukvotnta. Etol, évag
KOKKOG TMAQOTEALVNG £XEL TNV (6L TUKVOTNTA UE EVa LEYAAO KOUUATL amo To &lo uALKO. Eva
plviopa oléripou £xeL TNV Lo TUKVOTNTA PE pla oldepévia yédupal.

BOOLKEG EVVOLEG: CWHA - UALKO - OYKOG - MAla - TUKVOTNTO UALKOU - {UYOG - OYKOUETPLKOC
KUAWVEpOG

Napatnpw - MAnpodopolpal - 'vwpilw

Av {uyiooupe SUo cwpata anod SladopeTIKA UALKA TTOU £XouV looug Oykoug, Ba dol e OTL €xouv
SL0popETIKEG paleC.

Ma rtapddetypoa, 1ecm3 xahkov Tuyilet 3,9g, 1cm? ahoupwviou 2,7g kat 1cm? uSpapyupou 13,6g.
Nepo oykou 1L Tuyilel 1000g, evw AadL ioou dykou (1L) uyilel 920g.

ATIO TO YEYOVOG QUTO, TIPOKUTITEL N €VVOLA TN TIUKVOTNTOG EVOG UALKOU:
Ovopdieton n pala mou XL pia povada dykou tou uAwoU (1cm? ) 1m3).
Mo va TNV UTTIOAOYLOOUE XPNOLUOTIOLOU UE TN OXEoN:

d=m/V

omou m cupBoAilel tn pala cwpatog GTLAYHEVOU aTtO TO CUYKEKPLUEVO UALKO Kal V Tov OyKo Tou.
Ol povASeg ukvOTNTAC TTOU XpnoLponotovvtat ouvABwg, sivat to kg/m?3 kat to g/cm3 rj g/mL.

H rtukvotnta eival éva peyebog mou xapaktnpilel to UALKO ard To omolo anoteAeital Eva cwpa:
propoUpe va Slakpivoupe SU0 UAIKA oo TNV UKVOTNTA TouG. EmMopévwe pag evéladépel va
YVWPLLOUUE WG va TNV UTIOAOYI{OUIE TIELPAUATIKAL.

o va UTTOAOY(COULE TIELPAUATIKA TNV TTUKVOTNTA TOU UALKOU EVOG CWHATOG 0TNPLWOUAOTE OTN
oxéon 1: apKel va LETPHOOUUE TN Hala m Ko Tov Oyko V evOC OWUATOC KOL VO UTTOAOYICOUE TO
ninAiko toug m/V.



Nepapatikog YoAoylopog tng Nukvotntag Yypou TWHATog

AvapwTtiépal - YoB<tw - Ixedlalw

MNwc¢ Sa urtoAoyioouuE MEPAUATIKA TNV TTUKVOTNTA UYPOU CWUATOG;

ALaBETELG Eva LYPO CwHA O pLa GLaAn Twv 250mL, évav nAektpovikd uyo (Léylotn pala 2000g)
KalL €Valv OYKOUETPLKO KUALVEpo 100mL. Mepiypade pla melpapatikn dtadkacio, wWote Ye Ta
SlaBéopa dpyava va UIOPECELG VA UTIOAOYIOELG TTELPAUATIKA TNV TIUKVOTNTO TOU UYpoU Tou

UTIAPXEL OTN GLAAN.

IXeSLOPAC - Meplypadh

Meplypadr Tou MEPAUATOC:

Nepapatifopatl - YroAoyilw

AaBgtelg pla pLaAn twv 250mL, évav nAekTpoviko {uyo Kol EVov OYKOUETPLKO KUALVEpo 100mL.
ErutAéov €xeig U0 pLaieg D1 kat A2 mou mePLEXOUV LUYPA. H Lo TIEPLEXEL ATTOOTAYMEVO VEPO KOl
N AAAn aAatovepo. YIOAOYLOE TIELPAUATIKA TLC TTUKVOTNTEC TWV UYPWV TIOU TIEPLEXOVTOL OTLC
dLAAEG KO BPEG TTOLA TIEPLEXEL VEPO KOLL TIOLX AAXTOVEPO.



Metpnoelg - YitoAoylopoi

Mewpapatiko¢ urtoAoyLoUO¢ THE TTUKVOTHTOS TOU UypouU otn plaAn @1
a) Métpnon oykou VI vypoU amno t) ®1: VIi=_

B) Métpnon tng palag mi1 tou vypol oykou Vi:ml=__

y) YIoAoylopog tng mukvotntog d1 tou uypoul otn ¢pLain A1, pe tn BonBela tng
oxéong d=m/V

di=

Mepapatikog uoAoyLOUOG TG TUKVOTNTAS TOU uypoU otn @2
a) Métpnon oykou V2 uypou amno t O2: V2=
B) Métpnon tn¢ palag m2 tou uypoul oykou V2: m2=

V) YtoAoylopog tn¢ mukvotntag d2 tou uypou otn dLain M2, pe tn Bonbeia tng
oxéong d=m/V

d2=
J€ mola LA TIEPLEXETAL ATTOOTAYUEVO VEPO KAl OE TTOLA XAXTOVEPO;

2tn $pLain O1 nepLéxetal

2t PpLain O2 nepléxetal

AvapwTtlépal - YoOEtw - Zxedalw - Nepapatiopat

AVO pabntég, o Nwpyog kat n Katepiva umtoAoyilouv MELPOPATLKA TNV TTUKVOTNTA TOU
QIOCTAYUEVOU VEPOU.

O lNwpyog Bpiokel Tn pala ml vepou oykou V1=100mL koL otn cuvéxeLa uTtoAoyileL TNV MUKvVOTNTA
armnod to mnAiko m1/V1.

H Katepiva Bpilokel Tn pala m2 vepou oykou V2=150mL kal otn cuvéxela umtoAoyilel Tnv
TIUKVOTNTA Ao To TtNALKo m2/V2.

Me Sebopévo OTL oL SUo paBnTEG xpnolpomnoinoay ta bl Opyava Kot oL LETPNOELS TOUG EYLVAV UE
TIAVOUOLOTUTIEG CUVONKEG, TIOLO €lval To amotéAeopa KOs melpapatog; [Emideée pia andavinon]

l. H Tiun Tng mukvotnTag Tou vepoU mou Bpnke o MNwpyog eival peyalutepn amo tnv TN ¢
Katepivag ylati o 6ykog Tou vepoU TIOU XPNOLUOTIOINOE Eival UIKPOTEPOC EMOUEVWG TO
kKAaopa m1/V1 sival peyohUtepo anod to m2/V2, ylati £XEL LLKPOTEPO TOPOVOLAOTH.

Il. H Twun TG muKvOTNTOG Tou VEPOU TIou Bprke o Mwpyog sival PKpOTEPN Ao TNV TLUA TNG
Katepivag yati n palo m2 vepou oykou 150mL eivat peyaAltepn amnod tn palo ml vepou
oykou 100mL. Emopévwg to KAdopa m2/V2 sivat peyaAltepo and to m1/V1, yati £xet
peyaAutepo aplOuntn.

[l OL U0 pabntég Bprkav tnv idla mukvotnTa.



Metpnoelg — YroAoyilopoi

Melpauatiko¢ UTOAOYIOUOC TG TUKVOTNTAC TOU VEPOU aro to [wpyo

a) Métpnon tng palag m1 vepoL 6ykou VI=100mL: mi=__

B) YroAoylopog tng mukvotntag d1 tou vepou, Ue tn BonBela tng oxéong d= m/V

di=

Mewpapatikés umoAoyLouog tou vepoU ano tnv Katepiva

a) Métpnon tng palag m2 vepoL 6ykou V2=150mL: m2=__

B) YroAoylopog tng mukvotntag d2 tou vepou, e tn BonBela tng oxéong d= m/V
d2=

O Nwpyoc kot n Katepiva Bprkoav (oto mAaiolo tn¢ akpiBelag Twv UETPHOEWY TOUG):
a) tnv (bta Tiun yla tnv TUkvoTNTA TOU VEPOU

B) Stapopetikec TIUEG

Tupnepaivw - MevikeLw

JUUQWVEL n amavtnon mou enéAeéec oto Brnua 3 UE Ta MEPAUATIKE ATOTEAETUATO,
NAI - OXI

Eéaptdtal n mukvotnta EVOG UYpOoU CWUATOC oo TN Uadol Ko TOV OYKO TOU;
NAI - OXI

Mw¢ ouuBiBaletal To cuumépaocud oou Ue t oxéon d =m/V;

ANAVTACELG — ZUUTEPACHLOTOL




Lo &usS elall 3 (3iKan Lgadg 3 T5S Lo 90 on sl9gll (§ Jguad
‘?Zg.wbxl Lo 5,Q = gubf)’\ JM d>luwo G]aud\‘ P.?;.?J‘ _9.(b a_.}.cg
&5 5305 " salaall gl cLaSU ) ol e Wy,

POTAEIN [P VUMD
x> | - dlglacl duoces

G Mo ppedll Bgue Jolaid go old pn> Sl lgally didiall,
u.ul._}.ﬁ P> e U*LC%JLB.A p.:o;lb L§JJ‘ onLé-\ 54;-35 uulgé

Ol Y B gus yolid) ezl (£

1) Aoits aaSa dlg (1 o 3 91 1 Jo )i oo anSdl S Jgho ddlg 1 oo «
@) AL A ) @ e Sl gl U 48)> 10 pus .

) Al Sl (193 ) 1 e Sl gl gl 48> 1 ¢

old px> Slgw Ml

Jeludl - wasel - G Jatas

o) i BSadl 2 Blghaualy Tracmme olung speball, o sl 25 il
dasdl

Azl

€ €

Y] g)ﬁi—ﬁiw

03 ol e Bldl G oS OF digid Azl Jorawy Saelid @ laudl JsYI (0
Jodr bl 1. )8 uds ddaall 4 Wlye (5,31 JaSTy S (oladl]. ol L gie dogd @ daws Ayl I @z
039 Ly @ Jgai T,

T bl Jgur

& o sl S 23553 Aoyl (o ) Treegin dnsd Sl e Azl ( o )
L3
ol




S PORE S [PE T

Jalas] G - wisel - Jelud]

b Bl glawl duaz> dalady o cpaatiwodldl Lausg slog. o syl (25 wlad) px>

s

03 Lol pon dalad fpransidll ey chanld § slacd) USY1 o Jgir bl . )5S el ddoall 4 Do 5531
JoST9 Jod i)l ! dopd)) A giall P,.EJ x> VoA L.ﬁ‘” e lgde oxwy @ Jdovdl o,

< olebdl Jgu

L)) Oteiaddl e (Jo ) | rantindd] eoxa Oliolid doud Jawgie ((Jo )
ookd

b - A - 3

dolastinl o oSl G paadl Wlisgy HLasl Qg Bplas Wy Hlasl gy Slaey didig udd @l eig:u
lidas Juaiy 039 dlaiiow bo Lo . Sl gl alonst Lulidy duszes Lilglaus,

.3
x>l Ol g H syl U}UT 8yolan




RN | ‘bl.w.?;)" aeus

) e LTRSS

/.

e ———————

1318 U339 dakad pe (paantieddl lgazm 1 3 o dadaly dod g uid poesedl iz O dydsdl ) S ST S, AsS
x| ESJJH\A:;:-1BMggébluajLa}Bouwlwdjaéml,éwlgﬁc Ol d> i) Ly juds ABLS
dadad 58 o i Bolall, duwdasll Hupisdl L) s dSUS el (S,

eedlaadl Al : puuzel - Baloll - @zl - AST - ABLS Balall - 03192l - &l glassd)l dxazmell
b})’i-&bi-‘dﬁ
13) U339 cromur (y0 Slgo dakises Logly ploe>t Lgludtar damiud O lag) oyl ¢pilizes,
L,Lcwdlidlc13M&cuﬁlazﬂ()}g3.99?‘313‘«“0»‘53@4;3)9\2.7‘09.-4313‘“.“0»&*3)'.!‘13.69.?-.())'3
1 A oo £l 1000 p= ¢ biws O3 por> glane o o3l (1 A ) 0 920 -
Cy09 ol Wltﬁgewaéﬁss.)wl:
W&‘g&k’&ll@l\@ﬁbgwaowl(13‘o.w3113‘°).
lpluad g pusuind d8Mall
PRRRIRER,/Z = B

C,\Pd@&MW\&M‘&ABJ\A@gVW,C)\A}g&éU&J\&@M\BJ\;g{b3ﬁ/W3&/
3 .
o9l Jo/ o>

BUSII o LSl 21 405 Boledl 21 055 gt ez LiSay sl o (ke cyo IS LogidliS, sl (pond 9
Ly200 LS (Pl Lvys,

o) ZUSII 3Ll uacnd Sk sy hoind (e 23Dall 11 S5 (pued ASI) m Aloeall ol Golas
Jol>pgom/ V.



wtl Sale 3
Slu! oyl WU ol S5l
o o 5 (of .5
Jeludl - sdiel - B lalas|

o g ;b"");” L?..’)"ﬁﬂ [V ) GLSA:V ‘°|.A:>J.wb 0‘3.;)“ >l Oluws FELY Jsldl .)‘9.?-‘9,0.” L} a:-l:-JJ‘ L,S-‘;U @3)—75

o gll - eueuaill

Lyl Cauoy:

£ L of
el - Q2! U

250 daw (395 b Jo ¢ Olies 394N 100 daw drozes Dlglauly Jo . Oliz ) chd celld J] 430230 1 9D2
Ol @ 83 g2 gall S5 gundl BUS Luynd sl 7lo slo 4315 jlade slo e (S laasT . Jlgus (e Olgims
Bl sl e Son s slo o Sgro Ll sl



Ol - Olwldll

PRIPRRRR PR PRRPRRR PRRIZIER PRRRRR PRRR @1
el wd ((VIge Sl @l:VI=

WS Gold (0BT Sl px> o VI :BT=_

2SI Glu (z d 1 323l (3 3g29al Sl D1 Baclnas
aBdle A=

B1=

PRI PRRRER RREEER PRERRERERR FREFRRR 2
ez b3 (V2 oo Sl P2: V2 =
M\w@(QZ&W\W&AVZ;Z:

drlasll (§ 29z 9all Jludl BUS Olus (7 d 2 plasciuls O2
B p=

B2=

drlzsll gy 01 Yo

drlzsll Gy O2 Yo

4yl ‘aﬁﬁi - halas - wdiel - Jelud

Gy jladall sladl LS Gl o387 9z oWl ol

Al )9 A9l M1 e slall (30 V1=100mMLe downdd] Juol> oo AUSII Gl o6 03 M1/V1L.

slall S Lo 36 gl M2 ezl 13 V2=150mLe dowdl) Juol> (p0 ALY g 03 M2/V2,

[l Hbize] Say20 IS Ao Led cdipllaie gyl e Lagiluold sly) 039 Olgall udd Oledseian OLIUaIl 08 13)

~SI O JULg ¢ yiol lgtadsuinl (2l oluall eax> OY Lo )36 dasd (30 ST 9 g (1 slall ABUS dad l.
m1/V1 ;e ASTm2/V2s J-"“’OT dalio Y.

oo 1p A8 e sST e 150 eammw slall (3 2 0 AS OY L8 ded (o J31 s Ly (ol slodl ABUS Aaid LS.
S 0B JWLg . Je 100 e sl M2/V2 o0 ASTML/VLe ATl o Sgi 4Y.

gty BUSI o)l uzg. WG,



bl — ol

S yold (1B 1 sladl pox> 00 V 1=100 Jo 1 @ 1 =

slal &3S Gl (0 d 1 PPPRERR PRPRPRRE o = m / V

B1=

PRRRRRR PRRRRR PRRRER PRRRRRRE PRRRRE
S o3 (1712 sladl pox> 30 V 22150 Jo 1 @1 2 =

Lol &3S Gl (0 d 2 PPPRERR PRRRERRE o = m / V

B2=

sl - @i
Y- o]

PRIRRRIR ERERIE PIPRIRRR PPRRR FRRRE
Y- pa.#

PRPIPIRRR PP PIRIFRRIRIEIR RPRPEIPIR d=m/V,;

Ol - byl




ANICAGIT GHTTARGT 2
OO AN

I BT AT F© G AT AT 22 (AN
TN s IO uNed $9? ik wwes der  Ad
CHFOPER N(OI, WO 2 JH0 (O AT 7 Sr==r
AR BRATY (I @@ (i o9 "ouiifes
ARG8T (F fofTe FA|

3

2REEY vﬁ%% :

2 TP TN OFeT A PO AR WO ATV S (PN S| GBI
HATIT WTON AT FAE TN NHT H#N2 GfO0F JH0 WO Y G
FACO I AN ARITNCHNGT G5 AN (AR (VR | SN ARTNITHNT AICECT SR
AP Zel:

) I TN GBI (1 (R 3 M 1 INGT ): 6 TNHT WO~ I ATSS 1 (A 777

L)ﬁﬁ‘mm):ﬂﬁwwmm\%ﬁm SInGES
5Y) TNINOIF (1 TNOF 3): IH6 TP WTOA I NS 1 fNor= 157 |

R C L ERCT- L KT o O R V)

AN PR 6 U AR (@roe], J506 Serowgs
o a3 I G IR IF FIANIOITS AFINCANT Gy

B0 AIFIIAF S I F4
(dre«

W A1 FfF - =i ST Ffa

@A (T AT I LAY FATS AT O ATUN TP G2 ATH B[ A 97 1%
RN AN AR ([TFG TP | IF2 AT AES 4 IR YFARIG FPN 432 AT
(BRAM =7 T~ | TA (T (ST FNOIF NABE (AR SR 51 W S T
43¢ A6 JRfY A-(C @G T

AT TN S
&R S INGEIEIRCERIERIRIRIGH (AroTad Fol AFTATHNT 916 W (
SN et

1

2




AFfB FN 1A aq WTog Afqwrr
SN PR JF6 STSWGP HeTorE, AFERIE IF TFET,

(T 32 G ICAR | AHRINI HHANOT TN ARTNTHNT T
(6 AIPIAAS o 1 F4|

MIECTRl

ST HAH B - S R BE

2AFBRINT [FEAGT Ao AN TP 432 AN (GRA B 47 17 RN WK
ATV (FFE FF | G52 AT WIS 4 IF YIRS FPA A2 AR (BIRA® T4
FHN | AN (T ASBIRFINT (AR O TSN WS 51G W NN o 472 A6
AN B G (FFE FF|

AN SN I

R APBIRBCNT AN (N ) APEFN OGN AKTNTHT TG W
SN (fifer)

1

2

3

4

5

AT PN - VLN F LN - LT IFPBA

NN IR JB6 NHE, 7, T 33 IF0 (656 6O Q| SNAT NI
T T JF(F PAERN FACO 512 MO AN A6 oo Hifere™
R T FACO AT I3 OAEAF ATV AT FAC® NI | AN F TR 33
HIANTT °1I(.:I<P‘$MI SISRIERIEERISR WQWW|

I
WO AP (636 66 PR




GATAIN A FTFINY

M;uu I -;: o
W, T

W ST AGRBAL JF6 BICAT ST BIS A O 1 I 3 R JF2 AN
G0 (=R {F1, WNRAT (LTS AR (F GTRE ©F WNF Q| 1 (KN 3 SHeg G0
AT ©F *IFNIT GATATNG B0 (1D 72 TNg AT I | SToATe, AHBAI IHI6
T G2 GATAITNS A6 IG GHRCA! RN JF2 TNg IR | IH(6 (12 26 36
(TRIF (O RS G2 TN WY,

o = T e

WA YT : *1J1F - BATHI - WIS - ©F - GATATAL TN - OIFATT - OGN GF TSGR
W NLTTHT FfH - WNTE GINNT =Y - S o

ST T ST WIS [IfOF d 4fo (Mzd ST 14, OI=0e SNl (FUTS AI] (T
wIthd od fos |

SHIRITFAN, 1 (1 3 OTN1 8O 3.9 TN, 1 (AN 3 SIS NN 2.7 AW <8 1 (AN 3
I 13.6 ATV | 1 fHI0IF (T 8GN 1000 ATV, Y AN ATONF (O (1 fe51d)
ST 920 ATV |

IT0 GATAITNG TN {1 Owo 2T :
i3 3r1 i3 ) =g aN SATH IR |
A6 TN FATS WM STF 2D B

d=m/V

QU [ A5 Goara 47 v T (ofF *E9 ©d ([@IRIY I ¥ | 9059 PP
AN IO R kg / m3 IR g/ ecm 318/ mL.

TNY 2 NN JH0 AR T 96 AT fofzFe ata 1 iy 9o iz s1fde:

ST G GATANIE OIS TG QI SR FACS AR | OT2 ST AFYAF o 46
PO ST FACS T O GO AR |

AIFTYAT O IHFT *IFNIL SAN TNG ST FAR GNT SN STF 1 97 G2
RS 7. A6 ©I m W FIF G I8 A3 BfATON /6 aF(6 (MR A3 O
OIS m / V V] B |




SAA FAAT TNCF AWFIYAS STT
[FOTT RN ARNFIYTRCIT JB6 OFeT NI TG TV I

e FIF G0 S *1A7 IAAIR, AF6 AABGZ N IS (I ©F 2000 SN ) I8
JH15 100 e SENOMNEF MIFGR IATR | IF6 AIFIAS AES I TP IO
ST T AL WA AIEFIAF O (Ao S TN 1] FICS A |

fOGIEN - 39T
REICIEERRIE

NN FICG GHBI6 250 mL 1%, B0 AP B IS A2 dB6 100 mL BTSN HH
e 0T | IRITTS, WAV FICQ H6 ([0 O1 G G2 IR TS ©FT AT
BB AMGS G 7 TNO0S (NI G ICNR | APHRIYAF OIS (oA R TS AT
SIASTT TNG ST FFN A3 (FINCLS Gief ACACG S (FINOTS 7 Trel AR O
SHN I




AT - STIAT

(ITOTFTT CATTT GNCGT VA HBIYAE TN D1

D1 (AP OJCAD V 1 WFONG AN TN v 1=
OIA WO V1 J7OI m 1 97 VTN m 1=

(Aroe @1 Q9 O] ANY d 1 g7 HRCIT Y9~
W“"Flgd= m/V

dil=

©2  OFT GNCGT ATHIYTDB TINT

D2 ([P O] OIAON V 2 JT NIV V2 =
O WHON V2 J79I m 2 G7 VTN m 2 =

(Aroe @2 9 O] ANY d 2 g7 H1R1CIT Y9O~T
S™NE d= m/v

d2=

(BT (T NS M A G7¢ (PINGCS T AN U?

(o1 P1 4 JR(R

(droeT @2 4 AR

T2 BId, O A3 FIGRT °1<1|'>1=niv1<1>\-9m<1 AIFO® T TNY N FEAAN|

T V1=100mL TSN Giield ©F m1 LS AN A O ©I9TFe m1/v1 (ATH TG
NN FCAN |

PO V2=150mL SITOINT GiieTd ©d m2 YOO AT ¢ ST OI5THel m2/v2 (ATH
HN] VNI S|

7S (T 7f0 BT G2 T I FERRA 498 O AR WfoR AfFRfere o
AR, ARG NIHIR FeArwa 2 AN TN 96 B8]

l. W (A G NIRRT W %JVC@ (AR ©f <1°SI(.BI?1"H.<1 ATCNT (BT @ﬁTW‘T |\‘J|ﬁ
(Y G FI]RAMT PR ©I] ﬁﬁmﬁm, @3@%2“1’ m1/V1 m2/v2-49 (6 @ﬁ‘f,
PV T 6 (R6 =T (IR

2. O R ATST AING TN NI BB NN (G0 N BV 150mL A9
TSN AT ©F m2 100mL A7 TSN ANNT ©F m1 (AT Q| OIR OAIH
m2/V2 m1/V1 (AP IG, BIEV 9 JHI6 G &< AR



. 72 Rt a2 Iy U0 (g |

A - ST
GrG; G197 GreTd GG ST V]

G ATONI ©I m 1 JF TNV 1=100mL:m1 =

d= m/VW JJIRNG PL Gl d 1 INCQ I AVAT

dil=

FITCBITNIF NN ATBTYAS YT

GAARON V2 J99Im2=150mL:m2 =

d=m/VWW PG d 2 INTRS AT

d2=

GG g7° FIGITNT ST (NG (OIHT NN [NGT@IT N):

F) WAT IVGT GV IF2 NIV

) FICAEP Y] GINT

W SAALZNE - W ATHINTT

ST T3 4 (T GBI (AR VIR O [F A<IHIYeT Perfemiers e JB O

-0

OIS VG & @17 OF 97 RIFTOwT GAT [N OF B
-0

STRNTHI ST AT G BT PO [NFS 3 d=m / V;

©ed - ONTF




LABORATORY EXERCISE 2
VOLUME MEASUREMENT

How much water volume can | put in a glass? What is the
volume of air in the classroom? What is the volume of the
earth? Like surface area, volume is a physical quantity that
characterizes the "geometrical physiognomy" of the objects
we see around us.

Key concepts:
Body volume - Volumetric cylinder

In this exercise we will deal with measuring the volume of
liquids and solids. To measure the volume of a body we must compare it with a volume we have
chosen as a unit of measurement. The most common units of volume measurement are:

a) one cubic centimeter (1 cm 3 or 1 mL ): the volume of a cube whose edges are 1 cm long,
b) the liter (1 L ): the volume of a cube whose edges are 10 cm long,
c) the cubic meter (1 m 3 ): the volume of a cube whose edges are 1 m long .

Measurement of body fluid volume

| wonder - | guess - | plan

You have an empty plastic bottle, a volumetric cylinder and tap water.
Describe an experimental procedure to measure its capacitance

bottle.

| experiment — | calculate

Measure the volume of liquid that the bottle can hold and record your
measurement in the 1st line of measurement table A. Repeat the same process 4 more times and
complete the measurement table. Calculate the average value of the bottle capacity values you
found and record it in Table A.

TABLE OF MEASUREMENTS A
number Volume of water the bottle holds ( ml) | Average value of bottle capacity
measurement measurements ( ml )




Measurement of volume of a solid body
| wonder - | guess - | plan
You have a volumetric cylinder, a piece of plasticine, thread and water.

Describe an experimental procedure to measure the volume of the piece of
plasticine. g

Planning

| experiment — | calculate

Measure the volume of the piece of plasticine and record your measurement in the 1st line of
measurement table B. Repeat the same process 4 more times and complete the measurement table.
Calculate the average value of the volume values of the plasticine you found and record it in table B.

TABLE OF MEASUREMENTS B
number Volume of plasticine ( ml ) Average value of plasticine volume
measurement measurements ( ml)

Apply - Explain - Interpret

You have a marker, syringe, ruler and a test tube. We want to calibrate the test tube in units of
volume so that we can use it as a volumetric cylinder and measure volumes of liquids. Describe what
you will do and implement your plan.

Description
Test tube calibration in units of volume




DENSITY OF MATERIAL BODIES

;5‘1'
n : ,\Ln
4
: ; 7\ lh
3 ~ ’
B —

If we weigh a piece of plasticine that has a volume of 1 cm 3 and a piece of iron that has the same
volume, we will find that the iron has a much greater mass. The mass of a body that has a volume
of 1 cm 3 is a characteristic of the material of the body and is called density . Thus, a grain of
plasticine has the same density as a large piece of the same material. An iron sneeze has the same
density as an iron bridge.

Key concepts : body - material - volume - mass - density of material - balance - volumetric cylinder
I observe - | am informed - | know

If we weigh two bodies of different materials that have equal volumes, we will see that they have
different masses.

For example, 1 cm 3 of copper weighs 3.9 g, 1 cm 3 of aluminum 2.7 gand 1 cm 3 of mercury 13.6 g
. 1L of water weighs 1000 g, while an equal volume of oil (1 L ) weighs 920 g .

From this fact, the concept of the density of a material arises :
It is called the mass that has a unit volume of the material (1 cm 3or 1 m3).
To calculate it we use the relation :

d=m/V

where m denotes the mass of a body made of the particular material and V its volume. The units
of density commonly used are kg / m3andg/cm3org/ mL.

Density is a quantity that characterizes the material of which a body is composed: we can
distinguish two materials by their density. Therefore we are interested in knowing how to
calculate it experimentally.

To experimentally calculate the material density of a body we rely on relation 1: it is enough to
measure the mass m and volume V of a body and calculate their quotient m / V..



Experimental Calculation of Liquid Body Density

I wonder - | guess - | plan

How will we experimentally calculate the density of a liquid body?

You have a liquid body in a 250 mL flask , an electronic balance (maximum mass 2000 g ) and a 100
mL volumetric cylinder . Describe an experimental procedure so that with the available

instruments you can experimentally calculate the density of the liquid in the bottle.

Design - Description

Description of the experiment:

| experiment - | calculate

You have a 250 mL flask, an electronic balance and a 100 mL volumetric cylinder . In addition, you
have two bottles ®1 and @2 that contain liquids. One contains distilled water and the other salt
water. Experimentally calculate the densities of the liquids contained in the bottles and find which
contains water and which contains salt water.



Measurements - Calculations

Experimental calculation of the density of the liquid in the bottle @1
a) Measurement of volume V 1 of liquid from ®1: V1=__

b) Measurement of the mass m 1 of the liquid volume V1:m1=

c) Calculation of the density d 1 of the liquid in the bottle @1, with the help of
relationship d= m/V

dil=

Experimental calculation of liquid density at @2
a) Measurement of volume V 2 of liquid from ®2: V2 =
b) Measurement of the mass m 2 of the liquid volume V2:m 2 =

c) Calculation of the density d 2 of the liquid in the bottle ®2, with the help of
relationship d= m/V

d2=
Which bottle contains distilled water and which contains salt water?

Bottle ®1 contains

Bottle ®2 contains

| wonder - | guess - | plan - | experiment

Two students, George and Katerina experimentally calculate the density of distilled water.

George finds the mass m1 of water of volume V1=100mL and then calculates the density from the
quotient m1/V1.

Katerina finds the mass m2 of water of volume V2=150mL and then calculates the density from the
quotient m2/V2.

Given that the two students used the same instruments and their measurements were made
under identical conditions, what is the result of each experiment? [Choose an answer]

l. The water density value that George found is greater than Katerina's value because the
volume of water she used is smaller, therefore the fraction m1/V1 is greater than m2/Vv2,
because it has a smaller denominator.

Il. The value of water density found by George is less than Katerina's value because the mass
m2 of water with a volume of 150mL is greater than the mass m1 of water with a volume of
100mL. Therefore the fraction m2/V2 is greater than m1/V1, because it has a larger
numerator.

Il The two students found the same density.



Measurements — Calculations

Experimental calculation of the density of water by George

a) Measurement of the mass m 1 of water volume V1=100mL: m 1=

b) Calculation of the density d 1 of water, using the relationshipd=m/V

dil=

Experimental calculation of water by Katerina

a) Measurement of the mass m 2 of water volume V2=150mL:m2 =

b) Calculation of the density d 2 of water, using the relationshipd=m/V
d2-=

George and Katerina found (within the accuracy of their measurements):
a) the same value for the density of water

b) by relative prices

I conclude - | generalize

Does the answer you chose in step 3 agree with the experimental results?
YES - NO

Does the density of a liquid depend on its mass and volume?
YES - NO

How does your conclusion reconcile with the relationship d=m /V;

Answers — Conclusions




EXERCICE DE LABORATOIRE 2
MESURE DU VOLUME

Quelle quantité d’eau puis-je mettre dans un verre ? Quel
est le volume d’air dans la classe ? Quel est le volume de la
terre ? Comme la surface, le volume est une grandeur
physique qui caractérise la « physionomie géométrique »
des objets que nous voyons autour de nous.

Notions clés :
Volume corporel - Cylindre volumétrique

Dans cet exercice, nous traiterons de la mesure du volume
de liquides et de solides. Pour mesurer le volume d'un corps, nous devons le comparer avec un
volume que nous avons choisi comme unité de mesure. Les unités de mesure de volume les plus
courantes sont :

a) un centimetre cube (1 cm 3 ou 1 mL) : le volume d'un cube dont les bords mesurent 1 cm de long
)

b) le litre (1 L) : le volume d'un cube dont les bords mesurent 10 cm de long,

c) le metre cube (1 m 3) : le volume d'un cube dont les arétes mesurent 1 m de long .

Mesure du volume de liquide corporel

Je me demande - je suppose - je prévois

Vous disposez d’une bouteille en plastique vide, d'une bouteille
volumétrique et de I'eau du robinet. Décrire une procédure expérimentale
pour mesurer sa capacité

bouteille.

J'expérimente - je calcule

Mesurez le volume de liquide que peut contenir la bouteille et notez votre mesure sur la 1ére ligne
du tableau de mesure A. Répétez le méme processus 4 fois de plus et complétez le tableau de
mesure. Calculez la valeur moyenne des valeurs de capacité de la bouteille que vous avez trouvées
et enregistrez-la dans le tableau A.

TABLEAU DES MESURES A
nombre Volume d'eau que contient la bouteille ( | Valeur moyenne des mesures de
mesures ml) capacité des bouteilles ( ml )




Mesure du volume d'un corps solide
Je me demande - je suppose - je prévois
Vous disposez d'un cylindre volumétrique, d'un morceau de pate a

modeler, de fil et d'eau. Décrire une procédure expérimentale pour
mesurer le volume du morceau de pate a modeler. g

Planification

J'expérimente - je calcule

Mesurez le volume du morceau de pate a modeler et notez votre mesure dans la 1lére ligne du
tableau de mesure B. Répétez le méme processus encore 4 fois et complétez le tableau de mesure.
Calculez la valeur moyenne des valeurs de volume de la pate a modeler que vous avez trouvée et
enregistrez-la dans le tableau B.

TABLEAU DES MESURES B
nombre Volume de pate a modeler ( ml) Valeur moyenne des mesures de volume
mesures de pate a modeler ( ml)

Appliquer - Expliquer - Interpréter

Vous disposez d'un marqueur, d'une seringue, d'une regle et d'un tube a essai. Nous voulons calibrer
le tube a essai en unités de volume afin de pouvoir |'utiliser comme cylindre volumétrique et
mesurer des volumes de liquides. Décrivez ce que vous ferez et mettrez en ceuvre votre plan.

Description
Etalonnage du tube a essai en unités de volume




DENSITE DES CORPS MATERIAUX
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Si nous pesons un morceau de pate a modeler d'un volume de 1 cm 3 et un morceau de fer du
méme volume, nous constaterons que le fer a une masse beaucoup plus grande. La masse d'un
corps qui a un volume de 1 cm 3 est une caractéristique du matériau du corps et est appelée
densité . Ainsi, un grain de pate a modeler a la méme densité qu'un gros morceau du méme
matériau. Un éternuement de fer a la méme densité qu'un pont de fer.

Concepts clés : corps - matiére - volume - masse - densité de matiére - équilibre - cylindre
volumétrique

J'observe - je suis informé - je sais

Si nous pesons deux corps de matériaux différents ayant des volumes égaux, nous verrons qu’ils
ont des masses différentes.

Par exemple, 1 cm 3 de cuivre pése 3,9 g, 1 cm 3d'aluminium 2,7 get 1 cm 3de mercure 13,6 g. 1
L d'eau pese 1 000 g, tandis qu'un volume égal d'huile (1L ) pese 920 g ..

De ce fait nait la notion de densité d’un matériau :
C'est ce qu'on appelle la masse qui a une unité de volume du matériau (1 cm3ou 1 m3).
Pour le calculer on utilise la relation :

d=m/V

ou m désigne la masse d'un corps constitué du matériau particulier et V son volume. Les unités de
densité couramment utilisées sont lekg/ m3etleg/cm3oug/mL.

La densité est une grandeur qui caractérise le matériau dont est composé un corps : on peut
distinguer deux matériaux par leur densité. Nous souhaitons donc savoir comment le calculer
expérimentalement.

Pour calculer expérimentalement la densité de matiére d'un corps on s'appuie sur la relation 1 : il
suffit de mesurer la masse m et le tome V d'un corps et calculer leur quotient m/ V.



Calcul expérimental de la densité du corps liquide
Je me demande - je suppose - je prévois

Comment allons-nous calculer expérimentalement la densité d’un corps liquide ?

Vous disposez d'un corps liquide dans un ballon de 250 mL, d'une balance électronique (masse
maximale 2000 g ) et d'une éprouvette volumétrique de 100 mL . Décrivez une procédure
expérimentale afin qu'avec les instruments disponibles, vous puissiez calculer expérimentalement

la densité du liquide dans la bouteille.

Conception - Description

Description de I'expérience :

J'expérimente - je calcule

Vous disposez d'un ballon de 250 mL, d'une balance électronique et d'une éprouvette jaugée de
100 mL . De plus, vous disposez de deux bouteilles ®1 et ®2 qui contiennent des liquides. L'un
contient de I'eau distillée et 'autre de I'eau salée. Calculez expérimentalement les densités des

liquides contenus dans les bouteilles et trouvez lequel contient de I'eau et lequel contient de I'eau
salée.



Mesures - Calculs

Calcul expérimental de la densité du liquide dans la bouteille @1
a) Mesure du volume V 1 de liquide a partirde ®1:V1=__

b) Mesure de la masse m 1 du volume liquide V1:m1=

c) Calcul de la densité d 1 du liquide dans la bouteille @1, a I'aide de
relation ré= m/V

dil=

Calcul expérimental de la densité du liquide a ®2
a) Mesure du volume V 2 de liquide a partirde ®2: V2 =
b) Mesure de la masse m 2 du volume liquide V2:m 2 =

c) Calcul de la densité d 2 du liquide dans la bouteille @2, a I'aide de
relation ré= m/V

d2=
Quelle bouteille contient de I'eau distillée et laquelle contient de I'eau salée ?

La bouteille ®1 contient

La bouteille ®2 contient

Je me demande - je suppose - je planifie - j'expérimente

Deux étudiants, George et Katerina, calculent expérimentalement la densité de I'eau distillée.
George trouve la masse ml d'eau de volume V1=100 ml puis calcule la densité a partir du quotient
m1/V1.

Katerina trouve la masse m2 d'eau de volume V2=150 ml puis calcule la densité a partir du
quotient m2/V2.

Sachant que les deux étudiants ont utilisé les mémes instruments et que leurs mesures ont été
faites dans des conditions identiques, quel est le résultat de chaque expérience ? [Choisir une
réponse]

l. La valeur de densité de I'eau que George a trouvée est supérieure a la valeur de Katerina
parce que le volume d'eau qu'elle a utilisé est plus petit, donc la fraction m1/V1 est
supérieure a m2/V2, car elle a un plus petit dénominateur.

Il. La valeur de la densité de I'eau trouvée par George est inférieure a la valeur de Katerina car
la masse m2 d'eau d'un volume de 150 ml est supérieure a la masse m1 d'eau d'un volume
de 100 ml. La fraction m2/V2 est donc supérieure a m1/V1, car elle a un numérateur plus
grand.

M. Les deux étudiants ont retrouvé la méme densité.



Mesures — Calculs

Calcul expérimental de la densité de I'eau par George

a) Mesure de la masse m 1 du volume d'eau V1=100mL:m 1 =
b) Calcul de la densité d 1 de I'eau, en utilisant la relationd=m /V

dil=

Calcul expérimental de I'eau par Katerina

a) Mesure de la masse m 2 du volume d'eau V2 =150 mL:m 2 =

b) Calcul de la densité d 2 de I'eau, en utilisant la relationd=m /V

d2-=

George et Katerina ont trouvé (dans la limite de la précision de leurs mesures) :
a) la méme valeur pour la densité de I'eau

b) par les prix relatifs

Je conclus - je généralise

La réponse que vous avez choisie a I'étape 3 est-elle en accord avec les résultats expérimentaux ?
OUI - NON

La densité d'un liquide dépend-elle de sa masse et de son volume ?
OUI - NON

Comment votre conclusion se concilie-t-elle avec la relationd =m /V ;

Réponses — Conclusions
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EXERCITIUL DE LABORATOR 2
MASURAREA VOLUMULUI

Cat volum de apa pot pune intr-un pahar? Care este
volumul de aer in sala de clasa? Care este volumul
pamantului? Ca si suprafata, volumul este o marime fizica
care caracterizeaza ,fizionomia geometrica” a obiectelor pe
care le vedem in jurul nostru.

Concepte cheie:
Volumul corpului - Cilindru volumetric

n acest exercitiu ne vom ocupa de masurarea volumului de
lichide si solide. Pentru a masura volumul unui corp trebuie sa- comparam cu un volum pe care I-
am ales ca unitate de masura. Cele mai comune unitati de masura ale volumului sunt:
a) un centimetru cub (1 cm 3 sau 1 mL ): volumul unui cub ale carui margini au lungimea de 1 cm,
b) litrul (1 L ): volumul unui cub ale carui margini au lungimea de 10 cm,
c) metrul cub (1 m 3 ): volumul unui cub ale carui margini au lungimeade 1 m .

Masurarea volumului lichidului corporal

Ma intreb - presupun - ca planuiesc

Ai o sticla de plastic goald, un cilindru volumetric si apa de la robinet.
Descrieti o procedura experimentalad pentru masurarea capacitatii acesteia
sticla.

Experimentez - calculez

Masurati volumul de lichid pe care il poate retine sticla si nregistrati
masurarea dvs. in prima linie a tabelului de masurare A. Repetati acelasi proces de inca 4 ori si
completati tabelul de masurare. Calculati valoarea medie a valorilor de capacitate a sticlei pe care
le-ati gasit si Tnregistrati-o in tabelul A.

TABEL DE MASURI A
numar Volumul de apa pe care il detine sticla ( ml | Valoarea medie a  masuratorilor
masurare | ) capacitatii sticlei ( ml)




Masurarea volumului unui corp solid
Ma intreb - presupun - ca planuiesc

Ai un cilindru volumetric, o bucata de plastilina, ata si apd. Descrieti o
procedura experimentald pentru mdsurarea volumului bucatii de plastilina.

Planificare

bl b

Experimentez - calculez

Masurati volumul bucatii de plastilind si Tnregistrati masurarea dvs. in prima linie a tabelului de
masuratori B. Repetati acelasi proces de inca 4 ori si completati tabelul de masuratori. Calculati
valoarea medie a valorilor de volum ale plastilinei pe care ati gasit-o si inregistrati-o in tabelul B.

TABEL DE MASURI B
numar Volumul de plastilina ( ml) Valoarea medie a volumului de plastilina
masurare (ml)

Aplicare - Explicare - Interpretare

Ai un marker, o seringd, o rigla si o eprubeta. Dorim sa calibram eprubeta in unitati de volum, astfel
Tncat sa o putem folosi ca cilindru volumetric si sa masuram volume de lichide. Descrie ce vei face si
implementeaza-ti planul.

Descriere
Calibrarea eprubetelor in unitati de volum




DENSITATEA CORPURILOR MATERIALE

]

Daca cantarim o bucata de plastilind care are un volum de 1 cm 3 si o bucata de fier care are
acelasi volum, vom constata ca fierul are o masa mult mai mare. Masa unui corp care are un volum
de 1 cm 3 este o caracteristicd a materialului corpului si se numeste densitate . Astfel, un graunte
de plastilina are aceeasi densitate ca o bucata mare din acelasi material. Un stranut de fier are
aceeasi densitate ca o punte de fier.

Concepte cheie : corp - material - volum - masa - densitatea materialului - echilibru - cilindru
volumetric

Observ - sunt informat - stiu

Daca cantarim doua corpuri din materiale diferite care au volume egale, vom vedea ca au mase
diferite.

De exemplu, 1 cm3 € cupru cantareste 3,9 g, 1 cm3 de aluminiu 2,7 g si1 cm3 % mercur 13,6 g. 1
L de apa cantareste 1000 g, in timp ce un volum egal de ulei (1 L ) cantareste 920 g .

Din acest fapt, se naste conceptul de densitate a unui material :
Se numeste masa care are o unitate de volum a materialului (1 cm 3sau 1 m3).
Pentru a o calcula folosim relatia :

d=m/V

unde m denota masa unui corp format din materialul respectiv si V volumul acestuia. Unitatile de
densitate utilizate in mod obisnuit *"tkg / m3%g/cm3 saug/ mL.

Densitatea este 0 marime care caracterizeaza materialul din care este compus un corp: putem
distinge doua materiale dupa densitatea lor. Prin urmare, suntem interesati sa stim cum sa o
calculam experimental.

Pentru a calcula experimental densitatea materialului unui corp ne bazam pe relatia 1: este
suficient sd masuram masa m si volumul V a unui corp si calculati coeficientul lorm / V.



Calculul experimental al densitatii corpului lichid
Ma intreb - presupun - ca planuiesc

Cum vom calcula experimental densitatea unui corp lichid?
Aveti un corp lichid intr-un balon de 250 ml, o balanta electronica (masa maxima 2000 g ) si un
cilindru volumetric de 100 ml . Descrieti o procedura experimentala astfel incat cu instrumentele

disponibile sa puteti calcula experimental densitatea lichidului din sticla.

Design - Descriere

Descrierea experimentului:

Experimentez - calculez

Aveti un balon de 250 ml, o balant3 electronica si un cilindru volumetric de 100 ml . Tn plus, aveti
doua sticle @1 si @2 care contin lichide. Unul contine apa distilata, iar celdlalt apa sarata. Calculati
experimental densitatile lichidelor continute n sticle si gasiti care contine apa si care contine apa
sarata.



Masuratori - Calcule

Calculul experimental al densitadtii lichidului din sticld @1
a) Masurarea volumului V 1 de lichiddin ®1: V1=__

b) Masurarea masei m 1 a volumului lichiduluiV1:m1=

c) Calculul densitatii d 1 a lichidului din sticla @1, cu ajutorul
relatie d= m/V

dil=

Calcul experimental al densitatii lichidului la @2
a) Masurarea volumului V 2 de lichid din ®2: V2 =
b) Masurarea masei m 2 a volumului lichidului V2:m 2 =

c) Calculul densitatii d 2 a lichidului din sticla @2, cu ajutorul
relatie d=m/V

d2=
Ce sticld contine apd distilatd si care contine apd sdratd?

Sticla @1 contine

Sticla @2 contine

Ma intreb — presupun - planuiesc — experimentez

Doi studenti, George si Katerina calculeaza experimental densitatea apei distilate.

George gaseste masa m1 de apa cu volumul V1=100mL si apoi calculeaza densitatea din
coeficientul m1/V1.

Katerina gaseste masa m2 de apa cu volumul V2=150mL si apoi calculeaza densitatea din
coeficientul m2/v2.

Avand in vedere ca cei doi elevi au folosit aceleasi instrumente si masuratorile lor au fost facute in
conditii identice, care este rezultatul fiecarui experiment? [Alege un raspuns]

l. Valoarea densitatii apei pe care a gasit-o George este mai mare decat valoarea Katerinei
deoarece volumul de apa pe care I-a folosit este mai mic, prin urmare fractia m1/V1 este
mai mare decat m2/V2, deoarece are un numitor mai mic.

Il. Valoarea densitatii apei gasita de George este mai mica decat valoarea Katerinei deoarece
masa m2 de apa cu un volum de 150mL este mai mare decadt masa m1 de apa cu un volum
de 100mL. Prin urmare, fractia m2/V2 este mai mare decat m1/V1, deoarece are un
numarator mai mare.

Il Cei doi elevi au gasit aceeasi densitate.



Masuratori — Calcule

Calcul experimental al densitdtii apei de catre George

a) Masurarea masei m 1 a volumuluideapa V1=100mL:m 1=
b) Calculul densitatii d 1 a apei, folosind relatiad=m /V

dil=

Calcul experimental al apei de cdatre Katerina

a) Masurarea masei m 2 a volumuluide apa V2 =150 mL:m 2 =
b) Calculul densitatii d 2 a apei, folosind relatiad=m /V

d2=

George si Katerina au gdsit (in limita exactitatii mdsurdtorilor lor):
a) aceeasi valoare pentru densitatea apei

b) prin preturi relative

Inchei - generalizez

Rdaspunsul pe care I-ati ales la pasul 3 este de acord cu rezultatele experimentale?
DA - NU

Densitatea unui lichid depinde de masa si volumul acestuia?
DA - NU

Cum se reconciliazd concluzia dvs. cu relatiad=m /V ;

Raspunsuri — Concluzii




NNABOPATOPHOE YNPAXKHEHUE 2
N3IMEPEHUE OBbEMA

KaKoi 06bem BoAbl MOXKHO Ha/IMTb B CTakaH? KakoB o6bem
BO3A4yxa B Knacce? KakoB 06bém 3emnn? Kak n naowaap
NOBEPXHOCTN, OOBEM — 3TO ¢M3MYECcKaa BeNYUHA],
XapaKTepusylowas «reoMeTpuyeckyto GU3NOrHOMUKY»
npeaMeToB, KOTOPble Mbl BUANM BOKpPYr cebs.

KnioueBble NOHATUA:
06bem Tena - O6beMHbI LUANHAP

B 3TOM ynpasKHeHUn mbl 3aimemca nsmepeHnem obbema
XUgKocTeln U TBepapblx Bewects. YTobbl M3MepuTb 06bem Tena, Mbl LO/KHbI CPABHUTb €ro ¢
ob6bemom, KOTOpbI  Mbl  BbIOpanM B  KayecTBe eavHUUbl  M3MepeHuA. Haubonee
pacnpoCTpaHeHHbIMU eANHULLAMU U3MePEeHUs obbemMa ABNAIOTCA:
a) oguH Kybuyeckuii cantumeTp (1 cm 3 uamn 1 mn ): 06bem Kyba, pebpa KoToporo MmeroT ganHy 1
cm,
6) nnTp (1 n ): 06beEm Kyba, annHa pebep KoToporo coctasnaeT 10 cm,
B) Kybuueckunint meTp (1 m 3 ): o6bem Kyba, gnmHa pebep KOTOporo coctaBadeT 1 m.

N3mepeHune o6bema }KMAKOCTU B OpraHu3me

MHTepecHo, A Aymato, A NNAHUPYIO

Y Bac ecTb nycTadA nnactMkoBaa OyTblNKa, MEPHbIN UUMAMHAP W
BO4ONPOBOAHAA BoAa. OnuwnTe 3KCNEpUMEHTANbHY0 npoueaypy A
N3MepPEHNA ero EMKOCTMU.

6yTbiNKa.

fl SKCNEpUMEHTUPYIO — A PaCCUUTbIBALO

N3mepbTe 06bEM KMAKOCTWU, KOTOPbIMA MOXET BMeCTUTb OyTblab, W 3anuwute pesynbraTbl
nsmepeHunn B 1-i cTpoke Tabnuubl namepeHuint A. NoBTopUTe Ty e npoueaypy euwe 4 pasa u
3anonHuTe Tabnuuy mamepeHuit. PaccumTante cpegHee 3HaYeHMEe HaMAEHHbIX BaMW 3HAYeHUM
€MKOCTM ByTblIN 1 3anuwmnTe ero B Tabamuy A.

TAB/IMUA PASMEPOB A
yucno O6bem BoAbl, BMewaemblit byTbinkon ( | CpeaHee 3HavyeHne obbema 6yTbiAM (
n3mepeHue | mn ) M )




N3mepeHue o6bema TBepaoro Tena
MHTepecHo, A aymalo, A NNaHUPYIO
Y Bac ectb 06bEMHbIN UMAWHAP, KYCOK MNAACTUAMHAE, HUTKM U BOAa.

OnuwnTe 3KCNEPUMEHTaNIbHYIO METOAMKY M3MepeHna obbema Kycka
naacTuAuHa. by

MnaHuposBaHue

IKCNepMmMeHTUPYIO — paccumTbIBatO

M3mepbTe 06beM KycKa MNACTUAMHA WM 3anuwwnTe pesynbTaT U3MepeHusa B 1-10 CTPOKY Tabauubl
nsamepeHunn 6. MNMoBTopuTe Ty Ke npoueaypy ewe 4 pasa W 3anosiHUTE Tabauuy M3MepPeHUN.
PaccuntanTte cpegHee 3HaYeHMe 06bEMHbIX 3HAaUYEeHUIM HAWAEHHOro BaMM NIACTUNMHA U 3anuwunTe
ero B Tabnunuy b.

TABTULUA PASMEPOB B
yncno O6bem nnactuanHa ( mn ) CpeaHee 3HayeHue obbéma
namepeHue nnaactuamHa (mn )

MNpumeHUTb — O6BACHUTL — UHTEPNPETUPOBATL

Y Bac ecTb mapkep, WNpuL, MHEKa 1 NpobupKa. Mbl XoTUM O0TKannbposaTb NPOBMPKY B eanHMLLaX
obbema, 4yTobbl MOMKHO OblNIO UCMNOMBb30BaTb €€ KaK MEPHbIA UUAMHAP U U3MepPATb 06bembl
*)ungkocteit. OnuwnTe, YTO Bbl ByaeTe AenaTb U peannsyiTe CBOM NaaH.

OnucaHue
KannbposKa npobupKkn B egMHULLAX 06bema




NNTIOTHOCTb MATEPUAJIbHBIX TEN

“
Mk jwt
L) 5

L

Ecnn mbl B3BECMM KYCOK NAacTU/IMHA 06bemMoM 1 cM 3 U KYCOK »Kesie3a TaKoro e obbema, To
0bOHapyXuMm, 4TO Keneso nmeeT ropasgo bonblyo maccy. Macca Tena, umerouero o6bvém 1 cm 3,
AB/IAETCS XapaKTePUCTUKOM MaTepurana TeNa u Ha3blBaeTCs NNOTHOCTbIO . TakMm 0bpasom,
KPYMMHKa NAacTUAMHA MMEET TaKYHO Ke NMIOTHOCTb, KaK U BONbLLIONM KYCOK TOro e maTepuana.
enesHbili YNX MMEET TaKyHo e NJOTHOCTb, KaK U Kene3Hbl MOCT.

KntoueBble NOHATUA : TENO — MaTepuan — 06bem — macca — NJI0THOCTb MaTepuana — 6anaHc —
0b6bEMHbIN UMANHAP.

fl Habnoaalo - A UHGOPMMPOBaAH - A 3HAKO

Ecnv mbl B3BECMM ABa TeNa M3 PasHbIX MaTePUanos, MMEIOLNX PaBHble 06BbEMbI, Mbl YBUAMUM, YTO
OHW MMEIOT Pa3Hble MacCChbl.

Hanpumep, 1 cm 3 megm BecnT 3,91, 1 ecm 3antommumna 2,7rmnulcm 3PV 13,6 r. 1 1 Boabl BeCUT
1000 r, a paBHbI 06bEM macna (1 n ) Becut 920,

M3 aTOro ¢pakta BO3HMKAET NOHATME NIOTHOCTU MaTepuana :
Ee Ha3bIBalOT Maccoi, KOTOPYIO MMmeeT eguHuua ob6bema matepmana (1 cm 3nan 1 m 3).
[lna ero pacyeta BOCNO/Ib3yeMCSA COOTHOLLIEHUEM :

d=m/B

roe m obo3HavYaeT maccy Tesa, M3roToB/IEHHOTO M3 ONpeaeeHHOro matepuana, a V ero obbem.
O6bIYHO UCNONb3YEMblE eAMHULLbI NNOTHOCTM — Kr /M3ur/ecm3uanr/ mn .

MNOTHOCTb — 3TO BE/ANYMHA, XapaKTepusyouwiaa matepuan , U3 KOToOporo COCTounT Teno. ABa
mMmaTepuana Mbl MOXXEM pPa3/zindaTb NO UX NJIOTHOCTHW. |-|O3TOMy HaM MHTEpPECHO Y3HATb, KaK ero
PaCcCyYnTaTb IKCNEPUMEHTA/IbHO.

[nAa skcnepMmeHTaIbHOro pacyeTa NJIOTHOCTU MmaTepmana Tesa BOCNOb3yemMca COOTHoweHuem 1:
[OCTAaTOYHO N3MepPUTb Maccy m 1 Tom V Tena n BbIMNC/INTb NX YAaCTHOEe m/ V.



dKCnepuMMeHTaNIbHbIMA pacyeT NJIOTHOCTU XXUAKOro Tena

MHTepecHo, A Aymalo, A N1aHUpPYIo

Kak skcnepumeHmanbHO paccyumame naA0MHOCMb HUOKO20 mena?

Y Bac ecTb }XngKoe Teno B Konbe eMKocTbto 250 M , 3S1EKTPOHHbIE BECHI (MaKCMMaibHaA macca
2000 r ) u mepHbI uMAnHAP emKocTbio 100 mn . ONULWINTE METOAMKY SKCNEePUMEHTA,
NO3BO/IAIOLLYHO C MOMOLLbIO MMEHLLMXCA NPUBOPOB IKCNEPUMEHTANIbHO PACCUYUTATL NIOTHOCTb

KNOKOCTU B 6yTbII'I Ke.

OnszainH - OnucaHue

OnucaHue IKCNepumeHTa:

fl 3KCNEePUMEHTHUPYIO - i PacCUMTbIBAIO

Y Bac ecTb K0/16a eMKOCTbIo 250 M1, 3N1EeKTPOHHbIE BECHI U MEPHbIN LIUAMHAP eMKOCTbio 100 ma .
Kpome Toro, y Bac ectb ase byTbiikn @1 n O2, cogepalume *Knakoctn. B ogHom cogeputca
AWUCTUNINPOBAHHAanA BOAA, a B APYrOM — COJIeHas BoAa. DKCNEepMMEHTAIbHbIM NyTEM paccymuTanTe
NAOTHOCTW }KUZKOCTEN, COAEPIKALLMXCA B OYTbINAX, U HAWAUTE, B KAKOM COAEPHKUTCA BOAa, a B
KaKoil — coneHas Boaa.



U3mepeHusa — Pacuetbl

SKcnepumeHmManoHsbIl pacyem naomHocmu ¥cudKocmu e 6ymoinke @1
a) UasmepeHne obbema V 1 kugkoctmno ®1: Vi=__

6) 3mepeHune maccbl m 1 obbema ugkoctmu V1:m1-=

8) Pacuet nnotHocTv d 1 KmaKocTu B 6yTbinke P1 c nomoLbio
OTHOLEeHue 0= m/B

01=

SKkcnepumeHmanoHsili pacyem naomHocmu xudkocmu npu @2
a) UamepeHne obvema V 2 unagkoctn no ®2: V2 =
6) N3mepeHune maccbl M 2 obbema Kuagkoctm V2 :m2 =

B) Pacuet nnotHOoCTU d 2 XnaKocTh B ByTbisike P2 ¢ NOMOLLbIO
OoTHOLLeHue 0= m/B

02=
B Kakoli 6ymobinke Haxo0umcsa GucmusaupoeaHHAs 8004, d 8 KAKOU — coneHas?

ByTtbinka O1 coaeput

ByTbinka M2 cogepkuT

MHTepecHO - AyMalo - NNAHUPYIO - SKCNEePUMEHTUPYIO

[Boe cTtyneHTOB, leoprunit n KatepmHa, skcnepumeHTa/IbHO PaccYMUTbIBaOT NAOTHOCTb
AWUCTUNNNPOBAHHOM BOAbI.

Oxopax HaxoanT maccy ml sBogpl o6bemom V1=100 mn, a 3aTem BbI4MCAAET NNOTHOCTb M3
OoTHOWeHMA m1/V1.

KaTepuHa HaxoguT maccy m2 Boabl o6bemom V2=150mn 1 3aTem BbIYUCASAET NAOTHOCTb U3
OTHOWeHMA Mm2/V2.

YuuntbiBasn, 4yTo 06a CTyAeHTa MCNONb30BaIMN OAHU U TE e MHCTPYMEHTbI U U3MepeHuns
NPOBOANINCL B OAMHAKOBbIX YCIOBMAX, KAKOB Pe3yNbTaT KaXK4oro akcnepumeHTa? [Boibupatb
oTBeT]

l. 3HayeHue NNOTHOCTM BOAbI, KOTOpoe Hallen [xopa, 6onblie 3HavyeHMAa KaTepuHbl,
NoTOMY 4TO 06bEM UCMNO/b30BaHHOM elo BOAbl MeHbLLE, Mo3ToMy Apobb m1/V1 6onbule,
yem m2/V2, NOTOMY YTO Y HEe MEeHbLUNI 3HaMeHaTeNb.

Il. 3HayeHue NNOTHOCTM BOAbI, HanaeHHoe leoprnem, meHblie 3HavyeHua KaTepuHbl,
NOCKO/NbKY Macca m2 BoAbl 06bemom 150 ma 6onbuie maccbl m1 Boabl o6bemom 100 mA.

CneposaTenbHO, Apobb M2/V2 6onbue, yem m1/V1, NOCKONbKY Y Hee 60AbLINIK YNCAUTEND.

. [Ba cTyaeHTa 0OHapPYXUN OANHAKOBYIO NAOTHOCTb.



U3mepeHusa — Pacuetbl

SKcnepumeHmarsHoll pacyem riaomHocmu 8006l xopoxa

a) UamepeHne maccbl m 1 ob6bema Boabl V1=100mn:m 1=

6) Pacuet nnoTHocTu d 1 BoAbl, UCNONb3yA coOTHOWeHMe d=m /V

01=

3KkcnepumeHmanoHbIili pacdiem 6o0bl KamepuHol

a) UamepeHne maccbl m 2 ob6bema Bogbl V2 =150 mn :m 2 =

6) Pacuet nnoTHOCTU d 2 BOoAbl, UCNONb3YyA cOOTHOWeHMe d=m /V

02=

leopauli u KamepuHa o6Hapy»cunu (8 npedenax moYyHoCmu c8oux uamepeHuli):
a) Mo xce 3Ha4eHue rnao0mHocmu 800b|

6) Mo omHocumesnbHbIM YeHam

Denato BbiBOg, - 0606LLa10

Coomeemcmeayem sau omeem, Komopolil 8bl 8bI6PAAU HA Wa2e 3, pe3ys1bmamam 3KcrnepumeHma?
AA-HET

3asucum AU nNA0MHOCMb HUOKOCMU Oom ee Maccsl U obvema?
DA-HET

Kak eaw 861800 coenacyemca ¢ coomHoweHuemd=m /V;

OTtBeTbl — BbiBOAbI




